

$$\pi = \frac{2 \ln}{th} = \frac{2(43)(592)}{(87)(199)}$$

$$= \frac{51012}{17313}$$

$$2 \times 43 = 86$$

$$\begin{array}{r} 199 \\ \times 87 \\ \hline 1393 \\ 1592 \times \\ \hline 17313 \end{array}$$

$$\begin{array}{r} 592 \\ \times 86 \\ \hline 3552 \\ 4746 \times \\ \hline 51012 \end{array}$$

$$\begin{array}{r} 3.141592 \\ 17313 \overline{) 51012.000000} \\ \underline{-34626} \downarrow \\ 163860 \\ \underline{-155817} \downarrow \\ 804830 \\ \underline{-69252} \downarrow \\ 111780 \\ \underline{-103878} \downarrow \\ 79020 \\ \underline{-69252} \downarrow \\ 97680 \\ \underline{-86565} \downarrow \\ 111150 \\ \underline{-103878} \\ 7272 \end{array}$$

$$\pi = 3.141592...$$